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SI. No.1
QBID:1555481

Identify the correct preposition to make a meaningful sentence.

Mirror neurons first came light in the 1980s.
(A) in

(B) on

(c) to

(D) for

Sl. No.2
QBID:1555482

Identify the meaning of the underline idiom from the options given :

Radha's brother strained every nerve to enable her to get admission in Medical
college.

(a) talked to everyone

(B) spent a large amount of money

(c) met many people

(p) worked very hard

Sl. No.3
QBID:1555483

Choose the correct option to make a meaningful sentence. His secretary
five orphanages by today evening.

(A) will visit

(B) vistted

(c) will have visited

(p) will be visiting

Sl. No.4
QBID:1555484




Identify synonym for the underlined word in the sentence.

Aman's parents are happy that the couple is trying to find an amicable solution to
their problems.

(A) just

(B) desperate

(c) durable

(p) harmonious

Sl. No.5
QBID:1555485

Pick out the correctly spelt word.
(A) Conscomntions

(B8) Contientions

(c) Cosncemtions

(D) Conscientious

Sl. No.6
QBID:1555486

Identify the correct active voice for the sentence given below :

You are requested not to switch on the bulb.

(A) Please not switch on the bulb
(B) Switch on the bulb.

(c) Please don't switch on the bulb
(D) Don't switch on the bulb.

Sl. No.7
QBID:1555487

Identify the correct direct speech for the sentence given below

The Forbes told that it was not responsible for any mformation published n the
magazine.

The Forbes said "It was not responsible for any mformation published i the

(A) magazine".

The Forbes said, "We are not responsible for any information published in the

(B) magazine”.

The Forbes says, "It is not responsible for any information published m the

(€ magazine".
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The Forbes says, "We are not responsible for any information published m the
magazine".

SI. No.8
QBID:1555488

Give below are four sentences m jumbled order. Select the option that gives ther
correct order.

A. The structure of the building depends on the purpose for which it is erected.

B. People who design a buildng keep m mind the purpose for which it is being
erected.

C. Humans erect buildings for various purposes.

D. One byilding may require strength. another may require comfort, and a third
may require space.

Choose the correct answer from the options given below :

(a) C.D.A.B

@) C.A.D.B

(c) B.C.D. A

(o) D.C.B. A

SI. No.9
QBID:1555489

From among the four options given, choose the one which is a grammatically
correct sentence.

(A) Now. I wants to noticing the things I never saws when I was too busy working.
(8) Now. I want to notice the things I never saw when I was too busy working.
(c) Now. I wanting to noticed the things I never saw when I was to busy working.

(p) Now. I wanted to notice the things I never seen when I was too busys work.

SI. No.10
QBID:15554810

Find out which part of the sentence has an error. If there is no error, mark
option 4.

(A) As the fibers of the words are woven mto the exquisite tapestry.
(B) of a story and the deeps of a hero are portrayed m those words
(¢) The words bring forth those portrayed deeds.



(p) No Error

Sl. No.11
QBID:15554811

In 1985, the Government of India launched a special vaccination programme
called :

(a) Universal Immunization Programme

(B) Indian Immunization Drive

(c) Save., Child. Save Country

(D) Immunization for Secure Future

Sl. No.12
QBID:15554812

Match List I with List IT

List - I List - I1
Indian Nationals Magsavsay winners under specific category
A Verghese Kurien [. Government Service

B. Boobli Geogre Verghese |[I. Emergent Leadership
IC. James Michale Lyndoh  [[II. Journalism & Creative Arts
D). Kulandei Franics [V. Community Leadership

Choose the correct answer from the options given below :
(A) A-(I). B-(II). C-(III). D-(IV)
(8) A-(II). B-(I). C-(IV). D-(III)
(© A-(IV), B-(III). C~(I). D-(I)
() A-(III), B-(IV). C-(II), D-(I)

Sl. No.13
QBID:15554813
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Match List - I with List - 1T

List - I List - IT
Type Hydrogen Explanation
I. Generated through electrolysis powered

A. Green b : !
y nuclear energy
B. Blue I1. Generated from natural gas but the
' carbon dioxide is not captured.
II1. Generated by splitting natural gas by
D. Grey SMR and ATR method. Carbon dioxide 1s
captured.
D. Pink I'V. Generated by electrolysis of water

using renewable energy.

Choose the correct answer from the options given below :
(A) A-(II). B-(I). C-(IIT). D-(IV)
(8) A-(IV), B-(IIT), C~(IT), D~(I)
(©) A~(III), B-(1V), C~(1), D-(II)
) A-(I). B-(II). C-(IV). D-(III)

Sl. No.14
QBID:15554814

Cartographers are those who make :
(A) draw maps
(8) models of Divine Figures

(C) Snow men
(p) Google Trike

Sl. No.15
QBID:15554815

In 2003, space shuttle Columbia which carried Indian origin astronaut Kalpana
Chawla. an Israch and five other members dismtegrated upon its re-entry to the
Earth's atmosphere.

Name the Israch astronaut.
(A) Micheal Anderson
(B) Ilan Ramon

(c) Laurel Clark

(p) Dan's Brown
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Sl. No.16
QBID:15554816

Find the next alphabets - VULHI, TSMJK. RQNLM. POONO.-----
() NMPPQ
(8) NMOPQ
(c) ONMMP
(p) KLOMP

Sl. No.17
QBID:15554817

Aman, Balwmder, Chetan, Mahesh. Pradeep, Deepti are standing in a circle
facing centre. Balwinder is in between Deepti and Chetan. Aman is in between
Pradeep and Mahesh. Deepti 1s to the left of Mahesh. Who 1s between
Balwinder and Mahesh ?

(a) Deepti
(B) Chetan
(¢) Aman
(p) Pradeep

SI. No.18
QBID:15554818

Which does not belong with the others ?
(1) Contents

(11) Chapter

(u1) Bibliography

(1v) Research Thesis

(A) Contents

(8) Chapter

(¢) Research Thesis

(p) Bibliography

Sl. No.19
QBID:15554819
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Meena lives n Mumbai and has a house on the western beach. Her younger
cousin Rakesh lives in a small town near Delhi. Rakesh is a frequent visitor to
Mumbai and stays with Meena. Meena has visited Rakesh's house only once i
the past 3 years.

(1) Rakesh likes Meena more than Meena likes Rakesh.
(1) Meena is elder to Rakesh.
(111) Meena does not like small towns.

(1v) Rakesh wants to buy house on the beach.
(a) Only (1)

(8) Only (i)

(c) Only (iii)

(p) Only (1) and (1v)

Sl. No.20
QBID:15554820

Find the nussing munber,

7,8,15,34, 71, 132,
(A) 218
(B) 223
(c) 191
(p) 221

Sl. No.21
QBID:15554821

Arrange the following fractions (A-E) in their ascending order.
A.5/8

B. 7/12

C. 13/16

D. 16/29

E. 3/4

Choose the correct answer from the options given below :
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(a) B.E.AD.C
) DB, AEC
(c C.A.B.E.D
(o) D.B.A.C.E

Sl. No.22
QBID:15554822

A mixture contans alcohol and water m the ratio 4:3. If 5 liters of water 1s added
to the mixture, the ratio becomes 4:5. The quantity of alcohol in the given
mixture (mn liters) 1s :

(A) 12

(B) 10

(c) 14

(p) 11

SI. No.23
QBID:15554823

The value of 31574126 3.198 is approximately equal to :
63 972x 2835121

Aa) 0.0023
(B) 0.023
(c) 0.23
(D) 2.3

Sl. No.24
QBID:15554824
If(x+y):(x-y)=11:1, then 5x+3y

o

X2
(A) 45/4
(B) 4/45
(c) -45/4

(D) -4/45

Sl. No.25
QBID:15554825

If the difference between compound and simple interest on a certam sum of
money for 3 years at 2% per annum is ¥ 604, then what 1s the sum ?

(An) T 5.,00.000
(8) T 4.50.000
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© % 5.10.000
() T 4.40.000

Sl. No.26
QBID:1204531

Which of the following technique is used for tracing change in intracellular
location of proteins and metabolites.

(a) Chromatography
(8) DNA foot printing
(c) DNA end labelling

(p) Pulse-chase experiment

70 O B TH-1D U AR IUFTS B A-aRS ST Ui § 9ga1g
1 9dl T & [o7d SUTH & ol © |

(A) gueRad

(8) DNA PR fi
(C) DNA 3i=g giffaeur
(D) T& dgl TgHT

Sl. No.27
QBID:1204532

A specific protemn required for infecting a host by corona virus 1s known as:
(A) Receptor protein

(8) PDE

(c) Spike proten

(p) Polymerase basic 2

FEAT |

(A) TRl U

(B) WiEiz.

(C) TS W
(D) TiEH a® 2

Sl. No.28
QBID:1204533

The most common mitial step to separate water soluble proteins from insoluble
cellular material 1s-
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(a) Electroporation

(B) Differential centrifugation

(c) Density-gradient centrifugation

(p) Western blotting

3ife ST URMEE Ue o saga-sEia UieH &I ga-siia side gerd S gys &l ¢ |
(A) FOEEHREA

(B) 3OHTATHS egail

(C) VAU T H5a

(D) TiEH =i

Sl. No.29
QBID:1204534

The pH at which net charge of protein becomes zero under an electrical field at
room temperature is known as

(a) Isoelectric potential
(8) Isothermal point
(c) Isomeric point

(p) Isoelectric point

PH fory 1EH &1 S0 21608 S & a19AH W [9gga 849 &1 Suiufa # g 8 oia1 § 99
I HEA ¢ |

(A) THdTd fava
(B) FHaml fog

(c) FHrEEdl fog
(D) FHfEHE fog

Sl. No.30
QBID:1204535

The microscope that converts slight difference m the refractive index and cell
density into casily observed difference n the light intensity 1s known as-

(A) Phase contract microscope
(8) Bright field microscope
(c) Dark field microscope

(p) Transmission electron microscope
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GEACHET Wl AUTAIE SR SIS 99 | T (iFaT GEran § R vem &1 daar §
e & i e 2 | SEs B £

(A) WiE=y dfder =waas
(B) TH®ICT TS

(c) Dark Field Twag=
(D) FeRUI goEEE YERaRl

SI. No.31
QBID:1204536

Which of the following Histone protein found in chromatin has high Lysine
confent?

(A) H1

(B8) HZA

(c) H3

(o) H4

98 § S BRE Wi, e § Ul 91 § R J 9 Tea Y @ |
(a) HI1

(B) HZA

(c) H3

(p) H4

Sl. No.32
QBID:1204537

Which of the following techniques may be used for identifying a regulatory
protein that acts by binding to specific sequence of DNA?

(A) Southern blotting

(8) Northern blotting

(c) South western blotting
(p) Western blotting

T § B aB-1E o 990E W & 999 ® U594 &1 DNA F &y 79 9 954
&1 Y Bl ¢ |

(A) gl widara
(B) ITHI WIEEE
(c) i uise smidera
(D) diEE EmiEEE
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Sl. No.33
QBID:1204538

Which of the following disease in humans is caused due to expanded
microsatellite repeats?

(a) Huntington's discase
(B) Cystic fibrosis
(¢) Tuberculosis
(p) Alcapatourea

T € B A A # favga geguds el % eRw E
(A) TARIEA SR

(B) TP TR

(C) TSGR

(D) TEFICIGIRAT

Sl. No.34
QBID:1204539

Which of the following disease is associated with Philadelphia chromosome?

(A) Retinoblastoma

(B) Atrial septal defect

(c) Chronic myelogenous leukemia

(p) Myotonic muscular dystrophy

T 9 S9! AR fiFesitran URE & 91y 9T ¢ |
(A) Ao

(B) UfeTw HPw fagha

(C) HITHS ASTI-TEH TghIHal

(D) WHEEH-S =i fEwrwt

SI. No.35
QBID:12045310

A classification system that groups organisms together based on the similarity of
their observable characteristics is known as-

(a) Phylogenetic system
(B) Phenetic system
(c) Phyletic system

(p) Complement system



UF FiE0 oF e oidt & g & 91y 3991 Aguaed ARy ayu 1 99Hal & R
TR B W STl & |

(A) TG 3
(B) Wil o3
(c) wifageid g&fd
(D) T® A

Sl. No.36
QBID:12045311

A class of Immunoglobulin present in the serum which neutralizes toxins.
activates complements and crosses the placenta to protect the fetus and neonate
18

(a) IgD
(8) IgE
(c) I1gG
(o) IgM

fim ¥ Suftyg sRErafeE &1 o o fawed &1 9y &3al & Ud @ & ey aul ©E=<l &
YT Y Taund Y] & s9r9 & e R S § |

(a) IgD
(B) IgE
(c) IgG
(p) IgM

Sl. No.37
QBID:12045312

Blood group antigen differs m their
(a) Glycosylation pattern

(8) Phosphorylation pattern

(c) Methylation pattern

(p) Ubiquitinylation pattern

T g WiowH feg veR fim § |

(A) TSHESERA Hiced

(B) TFIERRISURA Hitoy

(c) Prmgaer wiceg

(D) FESIEATZUEH "y
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Sl. No.38
QBID:12045313

The replication on template strand always proceeds in 5' to 3' direction. If the
sequence of template strand 15 S’ATCCCT3', how would the correct sequence of
newly synthesized strand of DNA be read?

(A) ACGGAT
(B) AGGGAT
() TAGGGA
(p) TACGCT

Tafd erde sSigAan s' § 3 fean A aedi ¢ | ol e Sl FS I T HH 5' ATCCCT3 &
T It DNA &1 $31 &1 9ol &H 1 811 |

(A) ACGGAT
(8) AGGGAT
(c) TAGGGA
(o) TACGCT

Sl. No.39
QBID:12045314

Which of the following condition 1s NOT essential to maintain Hardy-Weimberg
equilibrium in a population?

(a) Large randomly mating population
(8) Small randomly mating population
(c) Absence of gene flow

(D) Absence of natural selection

Fafafaa # @ =59 O R, sa9sn ¥ wE-aae o ) 5910 @ # o smaws Tt
B

(A) TEl=a HiH &34 9ol Sdbe waae
(B) UEf=sad HH &34 drell 3fed S-Ee
(c) ©fiF WaTE @i srgarfa

(D) WIPids =g+ &1 Uil

Sl. No.40
QBID:12045315

Bacteria produce an enzyme methylase which mainly plays a role in

(A) Modification of DNA
(B) Cutting of DNA

(c) Repair of DNA
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(p) Rearrangement of DNA
aT] FAYTSEY UToed S0 B0 & W 6 05T 99 9§ fHaH ogH1 Y el Il & |
(A) DNA & F9=Ru &

(B) DNAF &3 8
(C) DNA &I avHa |

(D) DNA & g |

Sl. No.41
QBID:12045316

In anaerobic conditions, yeast consumes more glucose than mn the presence of
acrobic environment. This phenomenon 1s known as-

(A) Hatch and Slack effect
(B) Emerson enhancement effect

(c) Warburg effect
(D) Pasteur effect

A sargeidl ®1 R § So1e1 7@ &1 3UEF &Xd § argendt &1 Sufeufa &1 3dam | 59
ufehd &1 H5d & |

(A) TF iR We guE

(B) SHIEE TIEgH—< WHIG

(C) TR YHIE
(D) TTEER WHE

Sl. No.42
QBID:12045317

Which DNA reparr system is affected m Lynch syndrome?
(A) Nucleotide excision repair

(B) Base excision repair

(c) Mismatch repair

(p) Repair of double strand breaks

i Rrg & =1 DNA #3d o9 uIiad g1 ¢ |

(A) EFadeigs Iwicd A3

(B) 9 I=bed ATAH

(C) AT A

(D) ETEdl ®3I AU B 7
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Sl. No.43
QBID:12045318

Which of the following animal has a pseudocoel?
(A) Ascaris

(B) Fasciola

(c) Beroe

(D) Sea anemone

Profafad & 3 fa S0 § weer o o 2 2
(A) T

(B) TRy

(c) sl

(D) Tl T

Sl. No.44
QBID:12045319

Which of the following is NOT a characteristic feature of bony fishes?
(A) Presence of paired fins

(B) Laterally compressed body

(¢) Presence of homocireal tail

(p) Presence of placoid scales

fufafEa & § o1 @ faftw aem o aeg & =181 o @ 2
(A) T ual @1 gufRufd

(B) wi¥e 9 ¥ §9ifsd ek

(C) FHAN U=F &1 Jufeufd

(D) UETH Tehi &1 FuiRUTd

Sl. No.45
QBID:12045320

The method which was first developed for gene mapping in bacteria was
(A) Transformation in 1928

(8) Conjugation in 1946

(¢) Transduction m 1952

(D) Transformation m 1944
fafy oft whamgy & o sefeeron & forg ol wedt Rwhi g8

(A) 1928 # waigem



(B) 1946 H "gmA
(c) 1952 H s &EH
(D) 1044 ¥ FOiaIm

Sl. No.46
QBID:12045321

The gold standard method used for the detection of SARS-CoV-2 mfection is
(A) ELISA

(B8) RT-PCR

(c) Microarray

(p) FISH

SARS Cov-2 HebiHd &1 gdl W @ [y S Tiies dme &y &1 Sudi faan o & |
(A) ELISA

(8) RT-PCR

(C) AP

(p) FISH

Sl. No.47
QBID:12045322

Which one of the following phytochemicals produced m plants defend against
herbivores?

(A) Terpenes

(8) Lignin

(c) Flavonoids

(p) Tannins

el # S FEfaien veR #1 9ed WE MEniE § S99 #99d © |
(A) ==

(B) femii=

(C) wosss

(D) =

Sl. No.48
QBID:12045323

The rate of oxygen production is enhanced when there is operation of
(a) Cyclic photophosphorylation

(8) Non-Cyclic photophosphorylation

(c¢) Both Cyclic and Non-cyclic photophosphorylation
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(p) Oxidative phosphorylation

HTFoH F IS $1 eX Fgdl & oF 74 [FHeT 990 S99 |
(A) TH1T Bl BIRERISOEH

(B) EFH T ®ie FRERISAEH

(C) THFI TG IR HEmIg Hiel FIh RIS

(D) HiEEEled BIERRISaEH

Sl. No.49
QBID:12045324

The primary acceptor of CO, in C, plants is
(A) Phosphoenolpyruvate

(8) Ribulose 1. 4 diphosphate

(c) Ribulose 1. 5 diphosphate

(p) Phosphoenolglycerate

C,, el & CO, &1 snufées Tl & |

(A) TIEPIEAI HIERIGE

(B) TSI | 4- SEHREHE

(C) TSI 1, 5- SREERE

(D) FTERIEAN fwEve
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Sl. No.50
QBID:12045325

The prokaryotic microorgamism which fixes atmospheric nitrogen m symbiotic
association under aerobic condition in aquatic ferns is-

(A) Rhizobium
(B) Klebsiella
(c) Anabaena

(p) Rhodospirillum

W o J5aoid ol oo - | aig &1 gufufa & Sgoid! S9uH ¥ ararewia grgeteH
I RRFWE |

(A) TswEad
(B) TEEEE

(€) T

(D) TSETELITEH

Sl. No.51
QBID:12045326

Which of the following is not a vitamin?
(A) Biotin

(B) Choline

(c) Histidine

(D) Nicotmamide

99 § S Gerd= T8 g |

(A) SEIEH

(B) BT

(o) feEisia

(p) F=ifAES

Sl. No.52
QBID:12045327

A cloning vector may not contain
(a) Origin of replication
(B) Multiple cloning site

(¢) Promoter

(D) Selectable marker

U Fal-7 dige | Aol &l dbdl
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(A) VidSid &1 IeHg
(B) SEEEHS T HIge
(C) WHRER

(D) FEEEd AT

Sl. No.53
QBID:12045328

A lambda phage genome has a length of
(A) 12.5kb

(B) 24.5kb

(c) 42.5kb

(p) 84.5kb

UF ST el Torm 3 s B 8

(A) 12.5kb

(B) 24.5 kb

(c) 42.5kb

(D) 84.5 kb

Sl. No.54
QBID:12045329

Chemically synthesized linker molecules contaming recognition sequences of
specific restriction endonucleases for creation of cohesive ends in blunt ended
DNA fragments are generally

(A) 10 bp
(B) 24 bp
(c) 6bp
(p) 20 bp

THEEE U S Sty sy o] oty e vergfedng fimre ogee aRn s g .
A e X DNA €56 # 96us RR & go- &l ¢ | 59 9%itd a9 3] S
s fdart gidl & ?

(a) 10 bp
(B) 24 bp
(c) 6bp
(p) 20bp
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Sl. No.55
QBID:12045330

Which one of the following i1s autormmune discase?
(a) Type I Diabetes Mellitus

(8) Type II Diabetes Mellitus'

(c) Gestational Diabetes

(p) Haemophilia

T8 § B e A § 2

(A) <T59-1 STESly Hitred

(B) ZTEY-2 SESCly Afed

(€C) TRHERI STEale

(D) TEHIRTTa

SI. No.56
QBID:12045331

In which of the following plants, the gametophyte does not represent an
mdependent free living generation?

(a) Polytrichum
(B) Funaria
(¢) Marchantia
(p) Pinus

Fofafaa § § £198 09, feege sawn ¥ @dg oy did vefffd wi s & |
(A) TiEEEA
(B) T

(€) wRaIf=a
(D) M=%

Sl. No.57
QBID:12045332

Which of the following statement 1s true about Gymnosperms?

(a) Albuminous cells m phloem are absent

(8) The embryo that grows after fertilization 1s exoscopic in nature
(c) Gymmnosperms are dioecious in nature

(p) The embryo that grows after fertilization is endoscopic in nature

8 ¥ SFE $YF AAgaarel & X H 96l § 7



(A) TEHE SR wied # Sgafeyd sl & |

(B) YU G e+ % a1e # gar ¢ sfeddl wsfad FTea g |
(C) SFTgastal Unfermsd yHia el ¢ |

(D) YU & faEH & &1g # Sedl ¢ FaqE! 9P & &l ¢ |

Sl. No.58
QBID:12045333

Ghaucher disease 1s a genetic disorder which 1s associated with
(a) Endoplasmic reticulum

(B) Golgi apparatus

(c) Peroxisome

(p) Lysosomes

TER AR 0% HJaRE SR § R 3 59 & 91y e g |

(A) TASTEGHS epaH

() I vy

(€) WIRfwH

(D) TTEHH

SI. No.59
QBID:12045334

Hematopoietic stem cells are found in
(A) Bone marrow

(B) Liver

(c) Spleen

(p) Payers patches

TEIdIG® W HIREE Fgl grdl wirdl 2 |
(A) HH

(B) IPd

(c) fafew

(D) TR T

Sl. No.60
QBID:12045335

Which of the following vaccine does not provide life time protection?

(A) Polio

22 of 54



(8) Chicken pox

(c) Small pox

(p) MMR

S ¥ BT I SiaTHR XA ST ol Sl ¢ |
(A) diferar

GO IECERICS

(C) Bl A1l

(p) MMR

Sl. No.61
QBID:12045336

The formation of endosperm before fertilization is a characteristic of
(A) Bryophytes

(B) Angiosperms

(c) Gymnosperms

(p) Pteridophytes

i @ Iee e &1 Fain fege Rty aao g |

(A) SEIGTESH

(B) SIS

(C) T

(D) cRErPrEes

Sl. No.62
QBID:12045337

Heterospory is not found in

(A) Pinus

(8) Cyeas

(c) Selaginella

(D) Pteridium

faem g faad 381 s ondi & |
(A) Hig4d

(B) ¥IEFH

(c) femforen

(p) cdifsTH
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Sl. No.63
QBID:12045338

Diagnostic test used to detect Human Immunodeficiency Virus is

(A) Widal

(B) Autoradiography

(c) ELISA

(D) Precipitation

et gltemn S I9aE A # wforefieHt faum &1 gar oe & R s @
(A) Tgem

(B) SHERTSTETE!

(c) ELISA

(D) @&

Sl. No.64
QBID:12045339

Which one of the following antibody can cross placental barrier?
(a) 1gG

(8) 1eM

(c) IgE

(p) IgA

TH I S vfaeel W= HelYE S 9N & 96l & |

(a) 12G

(8) 1eM

(c) IgE

(p) IgA

Sl. No.65
QBID:12045340

Trypan blue assay is used for the:
(a) Counting of animal cells

(B) Quantification cellular proteins
(¢) Quantification of nucleic acid
(D) Identification of metabolite
EE s wdam fEas fm g |

(A) U] BIRHIS &I T0HEl & 6
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(B) RS UIEH &I AT & Y
(c) =Of® Ui &1 A1 & fau
(D) JUNGE &I UgaH & &g

Sl. No.66
QBID:12045341

Match List I wath List 1T

List-I (Enzymes) List-II (Function)

A. Histone acetyl transferase I. DNA replication

B. Cyclin dependent kinase I1. Chromatm remodeling
C. g-antitrypsin 1. Cell cycle regulation
D. Topoisomerase IV. Emphysema

Choose the correct answer from the options given below:
(A) A-IV, B-1. C-II, D-III

(8) A-IV. B-I1. C-III, D-II

() A-II, B-III, C-IV, D-I

(p) A-III, B-IV, C-II, D-I

o & wa g e Tes fitee

-1 (TogH) -1 (G TE)

A. BEF tfersa g I. DNA wfeeg

B. Trsfaem smutfig #1549 I1. Bt forsfiim
C. o-U=iefem I11. S =% e
D. SIS IV. TrpmEn

Jrr few v Aol # T HEL IO 99 hifT:
(A) A-IV. B-1. C-II. D-III
(8) A-IV, B-1, C-III, D-II
(c) A-IL. B-III, C-IV, D-I
(p) A-III, B-IV, C-II. D-I

Sl. No.67
QBID:12045342
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Match List I with List 1T

List-I (Animal) List-II (Larva)
A. Annelids I. Veliger

B. Insects I1. Trochophore
C. Mollusces III. Ammocoetes
D. Cyclostomes I'V. Catterpillar

Choose the correct answer from the options given below:
(A) A-I, B-IL, C-III, D-IV

(B) A-II, B-III, C-IV, D-I

() A-II, B-IV, C-1, D-III

(p) A-III, B-II, C-I, D-IV

e |& ag g e e St

i1 (o) TEI-1T (eean)

A. UEUOS 1. deftor

B. ®lc I1. SFER

C. Aiass I11. uHirdie fEvs
D. 9HaE! IV. e

A few 77 faseul & AFE SaL sl 994 hiTAT:
(a) A-L B-II., C-III. D-IV
(8) A-IL. B-III. C-IV, D-I
(c) A-IL. B-IV, C-I. D-III
(p) A-IIIL B-II, C-I. D-IV

Sl. No.68
QBID:12045343
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Match List I with List 1T

List-I (Hormone)

A. Epmephrine i liver

B. FSH

C. Vasopressin

List-IT (Function)

I. Conversion of glycogen to
glucose-1 phosphate

I1. Increased conversion of
glycogen to glucose

II1. Increase synthesis of estrogen

D. Epinephrine in skeletal muscle IV. Reabsorption of water

Choose the correct answer from the options given below:

(a) A-IV, B-1. C-II. D-III
(8) A-IV. B-I. C-III. D-II
(c) A-III B-IV, C-1I, D-I
(o) A-II., B-III, C-IV, D-I

g & arn g e e s

THl-1 G

A. TFd 1 UOAmhH
B. FSH

C. g9ufga

D. & 9E # uiaftea

- 11 ()

1. TWIEHITH &1 TSI 1-BREbe § gea
11. Tsd o | W@ia § giigos &1 ggq
T11. o & Seauu &1 e

IV. & § @i

A fgr 77 faeheul 3 TS ST 99 DhiTaAg:

(A) A-IV, B-1., C-II, D-III
(8) A-IV. B-I. C-III. D-II
(c) A-III B-IV, C-II, D-I
(p) A-II, B-III, C-IV, D-I

Sl. No.69
QBID:12045344



Match List I with List 1T

List-I (Nitrogenous bases) List-IT (Deaminated product)
A. Cytosme I. Thymine

B. 5-methyl-cytosine I1. Xanthine

C. Adenine I11. Uracil

D. Guanine I'V. Hypoxanthine

Choose the correct answer from the options given below:
(A) A-IV, B-I, C-II, D-III

(8) A-III. B-I. C-IV, D-II

() A-II, B-IV, C-II, D-I

(p) A-II, B-III, C-IV, D-I

e |& ag g e e St

-1 (S &M 11 (fsufres swg)
A, FEeEdE I

B. 5-Afia-agerd= II. 3=

C. gfsHH I11. T

D. Tt IV. Tgdra=iia

A few 77 faseul & AFE SaL sl 994 hiTAT:
(A) A-IV, B-1. C-II. D-III
(8) A-III. B-I. C-IV, D-II
(c) A-II. B-IV, C-II. D-I
(o) A-II., B-III, C-IV, D-I

Sl. No.70
QBID:12045345
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Match List I with List 1T

List-I (Compound) List-IT (Function)

A. Dolichol 1. Blood clotting factor
B. Vitamin-K II. Antioxidant

C. Vitammn-E III. Anticoagulant

D. Wartfarin IV. Sugar carrier

Choose the correct answer from the options given below:
(A) A-IV, B-I, C-II, D-III

(8) A-III. B-I. C-IV, D-II

() A-II, B-IV, C-II, D-I

(p) A-II, B-III, C-IV, D-I

e |& ag g e e St

-1 (@) THI-11 (@1)

A. Siii® 1. 750 9591 RS
B. ffefiF-K IGEIGSIEIEEE
C. fgerftq-E 111, uitse®

D. aRiE IV. T3 a5®

A few 77 faseul & AFE SaL sl 994 hiTAT:
(A) A-IV, B-1. C-II. D-III
(8) A-III. B-I. C-IV, D-II
(c) A-II. B-IV, C-II. D-I
(o) A-II., B-III, C-IV, D-I

Sl. No.71
QBID:12045346
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Match List I with List 1T

List-I (Cell type)  List-II (Function)

A. Macrophages 1. Antibody production

B. B-cells I1. Phagocytosis

III. Interact with macrophages and secret
cytokines

D. Helper T-cells  IV. Interact with infected host cells

C. Cytotoxic T-cells

Choose the correct answer from the options given below:
(A) A-IV. B-1. C-II. D-IIT

(8) A-II. B-I., C-IV, D-III

() A-III, B-IV, C-II, D-I

(p) A-II. B-II1, C-IV, D-I

o |5 @ o o e e

-l @REEs s vEr) - @E)

A. TgfaEi/AH e 1. wieReht &1 IadreA

B. B-FRER I1. Y&TiHa

C. Sy T-HiEE 111 agfaudnl & |y arafem

D. & T-HiRE" TV. Swfa arel SRt & o

A feT 90 fghedl # G HE IOl 98 HhifaIg:
(A) A-IV. B-1. C-II. D-III
(8) A-IIL. B-I., C-IV, D-III
(c) A-III B-IV, C-II, D-I
(o) A-II. B-III, C-IV, D-I

Sl. No.72
QBID:12045347



Match List I with List 1T

List-I (Name of Scientists) List-II (Discoveries)

A. Avery, Macleod and McCarty 1. Complementation analysis

B. Edward Jenner I1. Law of equivalence of bases
C. Erwin Chargaff ITI. Chemical basis of heredity
D. Semour Benzer IV. Vaccine

Choose the correct answer from the options given below:
(A) A-IV, B-I, C-II, D-III

(8) A-II., B-I, C-IV, D-III

(c) A-IV, B-III, C-II, D-I

(p) A-III, B-IV, C-II, D-I

e |& ag g e e St

-1 @i &1 M) TE-11 (@)

A. ol dofdis R dFeR® 1 W

B. TSTS oY I1. ¥R &1 geaie! a8

C. $Xia= IR I11. SaiREd &1 TWEHE AR
D. R &R IV, &

A few 77 faseul & AFE SaL sl 994 hiTAT:
(A) A-IV, B-1. C-II. D-III
(8) A-IL. B-I, C-IV, D-III
(c) A-IV. B-III. C-II. D-I
(p) A-III, B-IV, C-II. D-I

Sl. No.73
QBID:12045348

Given below are two statements:
Statement I: The application of herbicides to kill unwanted plants is widespread

m agriculture.
Statement IT: DCMU act by blocking electron flow at the quinone acceptors of

photosystem by competing for the binding site of plastoquinone.
In the light of the above statements. choose the correct answer from the options

orven below:
(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement IT are incorrect
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(c) Statement I is correct but Statement II is mcorrect

(D) Statement I is mcorrect but Statement II 1s correct

=i g s fgw 1T §:

FUA 1 UICTARIE H U FY 7 {5 989 B AR A 3TART FAr Ar §
I

Fd [1:DCMU - coeeiiadaled ol Selel &hi S8 & o7 fodeld Jal Wil d=
| I Soldgll WaTg &l Uehal &I HT A § |

3Ued HUA & Aol A, oA fGw v fGwedl # dHad Iuged I 99
Tl

(A) FUF 13K g Tgr g

(B) &Ua 13X NEEr efd &

(C) T IHET &, oifchet &h2lel I 70id &

(D) YA 13Te9d . oifchel Shelel [ITET &

Sl. No.74
QBID:12045349

Given below are two statements:

Statement I: In prokaryotes all types of RNAs are transcibed by the holoenzyme.
that consists of several polypeptides (Two o. One B, & One B' and one T ).
Statement IT: The start signals on DNA are called promoters and represent the
mitial binding site for the RNA polymerase.

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both Statement I and Statement IT are correct
(B8) Both Statement I and Statement IT are incorrect
(c) Statement I is correct but Statement IT is incorrect

(D) Statement I 15 incorreet but Statement II 1s correct
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Al 27 Fud BT v

FUF 1 UiFpiend & Tl bR F RNA gielteasH & @il 3aaiad ¢ 3R &5
dfecess e g & | (B 0. TP B, AR TH o UH)

& 11:DNAF Hhd Fda &I AR Fpd ¢ A RNA dfeayd & oriens
rtlel & TU @ gea B

IWIFT FUA & el A, @A QU 710 fadhedl # §Ha8 390Fd IO FH1 994
i

(A) FUF 13K g T8 g

(B) ¥ 13X NEEt eid &

(C) TS 1TET &, oifthed Tl 1 7Teid &

(D) FUF 13T9d &, oifchel el [ITET &

Sl. No.75
QBID:12045350

Given below are two statements:

Statement I: The Glycolytic pathway is the only route available for the oxidation
of sugars i plant cells.

Statement IT: In Pentose phosphate pathway, the complete oxidation of one
ghicose-6-phosphate molecule to CO, results in production of 12 NADPH
molecules.

In the light of the above statements, choose the correct answer from the options
given below:

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are ncorrect

(c) Statement I is correct but Statement II 1s incorrect

(D) Statement I is mcorrect but Statement IT is correct

A 27 T BT A

FUT 1 : TosHhesed g gier fr St J o F ediEer & T Sao
3UcTeT ¢ |

YT 11: Usclol BIEHE T #H, Teh Tefdhlol-6-BEthe O] &1 COp #H qof
farireRtoT &1 9fiomHA 12 NADPH 3707 & 3cdle & |

WG HUA & Helleh A, w4 GU ¢ fdepedl & G 39Fd ST A T3]
FHIfre:




(A) FIF 13X g T8r &
(B8) &ud 13K gt 7ed §
(C) FUA 1HET &, ifched &oet M oeid &
(D) TS 17ed &, oifthel Foe [ITE &

Sl. No.76
QBID:12045351

Given below are two statements:

Statement I: Telomeres are sequences at the end of eukaryotic chromosomes
which helps i stabilizing the chromosome.

Statement II: Telomeres end with multiple repeated sequences m the form of
(TTAGGG),, in humans.

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both Statement I and Statement IT are correct
(B) Both Statement I and Statement II are incorrect
(c) Statement I is correct but Statement II is mcorrect

(D) Statement I is mcorrect but Statement IT 1s correct

A 27 T BT A

Ford 1 : S IHREed qoE & O W HgHfAd § | S O &
TaTscd # FEEdr ad © |

S 11: Teays Y Aod YeREidd HeJshd & @y #osd # (TTAGGG), &
TMAFTAE |

WG HUA & Helleh A, w4 GU ¢ fdepedl & G 39Fd ST A T3]
FHIfre:

(A) Fua 13R IS J8r &
(8) FYd 13K I ST 7Teid §
(c) FuT 1TET &, oiftheT et 1l 7Teid &
(D) FUT 1TAd &, oAfehed T [IHE &

Sl. No.77
QBID:12045352
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Given below are two statements:

Statement I: In agarose gel electrophoresis. the large pore sizes of the low
concentration gels makes possible the separation of very large molecules.
Statement II: In agarose gel electrophoresis, the small pore sizes of the high
concentration gels makes possible the separation of large molecules.

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both Statement I and Statement II are correct
(B8) Both Statement I and Statement IT are incorrect
(c) Statement I is correct but Statement IT is incorrect

(D) Statement I 15 incorreet but Statement II 1s correct

T or e few e g

FT |- TRIA ool SolgcImiiad # FATSTr aid & 95 PR & o 9gd 75
37T T JUFHIOT & HIA 3 ¢ |

FUT 11 : WIRIST I SoldeORET #, 359 Tleedl A & BT IR & &g 99
3O & TUGFHIOT & HH A § |

IREFT FAF F e A, A9 QU 710 fawed! § TG I90Fd I FT 99
e

(A) FIF 13K g T6r &

(8) FYd 13K I ST 7Teid §

(c) FuT 1TET &, oiftheT et 1l 7Teid &

(D) FUS 13T &, oifthel FU I HET &

Sl. No.78
QBID:12045353

Given below are two statements:

Statement I: Mycorrhiza is a symbiotic association between cyanobacteria with
the roots of higher plants

Statement IT: Mycorrhizal association is important for nutrient acquisition in
plants under limited condition.

In the light of the above statements. choose the correct answer from the options

given below:

(A) Both Statement I and Statement IT are correct

(B) Both Statement I and Statement II are ncorrect
(c) Statement I 15 correct but Statement II is ncorrect

(D) Statement I is mcorrect but Statement II 1s correct
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Al 27 Fud BT v

FUA 1 : Fasdel AaeFerNar AT 3=aaq 9l & Fs7 & &9 ageidl geaet
AT B |

Fud 11: @gaidl Geded T 3@ew & 957 & duss 39 & O Jgeado’ § |

IWIFd FHUA & 3eiler H, 7 [GT 310 fadedl # J Hadl IUGFd IO A ol
AN LEE

(A) Fua [3R LeEr T8l &

(8) &Y 13K I g=r 7ed &

(C) FUT IHET &, oifchet &h2reT I 7T0id &

(D) TS 17ed &, oifthel Foe [ITE &

Sl. No.79
QBID:12045354

Given below are two statements:

Statement I: Apoptosis 1s a genetically regulated process occurring m specitic
tissues during development and disease by which cell destroy itself.

Statement II: Apoptosis is regulated by mtracelluar signals generated from many
secreted cells, cell surface, protein hormones as well as many environmental
stresses.

In the light of the above statements. choose the correct answer from the options
orven below:

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement IT are incorrect

(c) Statement I is correct but Statement II is incorrect

(D) Statement I is mcorrect but Statement II 1s correct

A g wee BT AT g

Fore 1: VHIUEIRE Salieg Hawe 9iddr § S a9y 3ae & faere iR feAnr
& AT FHIUFT & AcHGT Sarl aid! ¢ |

mml[:ﬁmmmﬁmmﬁ%ﬁa@ﬁﬁﬁﬁ
IR, FfAHIHT T Tde, N, Frala & AT T dgd W GHELonT darar
Y 309 BT & |

IR FHUT & el A, A @ a0 fashed! A §HaH TS ITH T
It



(A) FIF 13X g T8r &
(B8) &ud 13K gt 7ed §
(C) FUA 1HET &, ifched &oet M oeid &
(D) TS 17ed &, oifthel Foe [ITE &

Sl. No.80
QBID:12045355

Given below are two statements:

Statement I: In C4 cycle fixation of CO2 by the carboxylation of phosphoenol
pyruvate in the mesophyll cells results in conversion to malate or aspartate.
Statement II: The transport of C4 acids to the bundle sheath cells leads to
decarboxylation and generation of CO2, which is finally reduced mto
carbohydrates via calvin cycle.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement IT are incorrect

(c) Statement I is correct but Statement II is incorrect

(D) Statement I is mcorrect but Statement II 1s correct

A 27 Fua fTw T &

FUA 1:Cy cycle & HiSifther HIfSiar3t F wrewsale asedd & Fralieaers
& ganr CO, #r e glar & | 3R aRvmawasy #ec 3R wIRee &
gfEfda ga & |

®YeT I1: C, UFls & garese HIfEEET & alasd, Baeiieaeere 3k CO, &

3G # IFAET aXar ¢ | S R R F Ffeas ow welesie d dogae
AT ¢ |

IWFd HU & 3elleh A, s QU ¢ faswodl # S Ha 39gedd IR F aded
I

(A) FUT [3R IS0 T8 &

(B) FUF 13X U= o T &

(C) FUA I1TET & dfched ot H7eid &

(D) FUT 1T §. olfechet FareT [IHET &
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Sl. No.81
QBID:12045356

Establishment of mammalian cell culture mvolves the following steps.

A. Culture of primary cells

B. Subculture of primary cells

C. Separation of cells from tissue by mechanical or enzymatic method
D. Culture of secondary cells

E. Subculture of secondary cells

Choose the correct answer from the options given below:
(a) C.A.B.D.E
) A.C.E.B.D
(c) AD.C.B.E
() A.D.B.E.C

WAyl FiREEl & ded9 ¥ wgg § et e mita g

A. muftig SifREst &1 d9adq

B. mufts St $1 gsgadq

C. BIRSEH 1 TaS & GUTHI GRS R Tanghiesd Ay gr
D. fadtos =it = 99dw

E. fados siftmst &1 g5gadq

= 6T 7w faehedl # 9 T8l SO & 994 hilfAu:
n) C.A.B.D.E
) A.C.E.B.D
) A, D, C,B.E
@) A.D.B.E.C

Sl. No.82
QBID:12045357

The steps mvolved in bacterial translation are

A. Activation of amino acids

B. Initiation of polypeptide synthesis
C. Aminoacylation tRNA

D. Peptide bond formation

E. Termination of polypeptide

Choose the correct answer from the options given below:

() A.C.B.D.E
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) A.C.E.B.D
(c) A, D,C,B.E
() A.D.B.E.C

Sram e # it 9 # |

A. THEI Tfgs &1 "ieom

B. OifedyEs S99 &1 REE
C. tRNA &1 ufiFaEdas=
D. U¥TSS &% &1 §9-1

E. uiferdpise &1 9999

T feu v fqeheul A | HEl 3TX & T8 ShiTAu:
(n) A,C.B.D.E
) A.C.E.B.D
) A;D.C,B.E
() A.D.B.E.C

Sl. No.83
QBID:12045358

The sequential steps mvolved in prophase I of meiosis are

A. Chromosome condensation

B. Ternunalization of cluasmata

C. Formation of tetrad of bivalents (four strand)
D. Pairing of homologous chromosomes

E. Genetic recombination

Choose the correct answer from the the options given belowr:
(A) A.B.C.D.E
) A.C.E.B.D
c) A;D.C,E,B
() A.D.B.E.C
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ST FT JuT Q@I F AT U §

A, TUEF Hg994

B. fruwame &1 efiasase
C. fedanlt & ¢ers &1 a4
D. TH%Y A &1 JHA

E. 3aii¥® g4:5sa

T e v fqeheul A | HEl 3T & T8 ShiTAT:
(n) A.B.C.D.E
) A.C.E.B.D
) A, D, C,E. B
@) A.D.B.E.C

Sl. No.84
QBID:12045359

Arrange the followmng discoveries in increasing order

A. Greger John Medel discovered the basic principles of Genetics
B. Charles Darwimn published a book on origin of species

C. Watson and Crick deciphered DNA structure

D. Friedrich Miescher identified Nuclein

E. Oswald Awery Identified DNA as the transforming principle

Choose the correct answer from the options given below:
(A) A.B.C.D.E
) B.C.E.A.D
(c) B.A.D.E.C
() A.D.B.E.C

T @il & 9gd A H ogaiRyd S

A. R WIF B0 gaiied & faera & @ |

B. 9 SR WiEfia #1 Sdi IR U I uad 6 |
C. a1ew AR 5% 7 DNA & 9351 & $earad &I gam |
D. ®iga MR 3 e 21 959 |

E. siiedits o 7 DNA & uiafid fara &1 ugar i |

A Bw v faeedl A 9 Hel 3UX & 999 dileIg:
(n) A.B.C.D.E
) B.C.E.A.D



c) B; A D E L
() A.D.B.E.C

SI. No.85
QBID:12045360

Arrange the following m order of their action

A. G1 cyclin CDK Complex

B. APC-cdhl

C. S Phase cyclin CDK Complex
D. MPF

E. APC-cdc20

Choose the correct answer from the options given below:
(n) A.C.D.E.B
() B.C.E.A.D
c) B AD EEL
() A.D.B.E.C

Fofefes &1 3= v & s F weRE =2

A. G1 95909 CDK Sieded
B. APC-cdhl

C. S Phase 95fd= CDK &0
D. MPF

E. APC-cdc20

e B v Taehedl A | HEL 3OX o I8 it
(A) A.C.D.E.B
) B.C.E.A.D
c) B; A D E L
(o) A.D.B.E.C

Sl. No.86
QBID:12045361
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Identify the correct order of signal transduction pathway

A. Binding of ligands to cell surface receptor

B. Termination of signal

C. Generation of intracellular second messenger
D. Intracellular signaling cascade

E. Effector response

Choose the correct answer from the options given below:
(n) A.C.D.E.B

) B.C.E.A. D

(c) B.A.D.E.C

() A.D.B.E.C

Hebd UNEHHU 9Y & Tel HH B ggaH]

A, BREH1 FTE Tl W /TS F1 58
B. d&d @1 9HTH

C. HaEREEn Gy doaes
D. & SIR@ST iEias s
E. ®TH&T UHIE

A QT 9T Taeheul # § Rl 34X & 99 HIfSIT:
(n) A.C.D.E.B
) B.C.E.A.D
(c) B A D, E.LC
() A.D.B.E.C

Sl. No.87
QBID:12045362

The nuceoplasmic index, where the nuclear mass and cytoplasmic mass of the
cells are m the state of optimum equilibrium depends upon

A. Nuclear volume
B. Cell volume

C. Nuclear mass

D. Cytoplasmic mass
E. Centrioles number

Choose the correct answer from the options given below:
(A) A and B only
(8) C and D only
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(c) A and C only
(p) A and D only

g GRUM, Wl ) SINEe] $1 IR Go0aH 3N Sgereiois Gedd SsPad
o # & | fead srenfia 2

A. TiFER e
B. SifE@ &1 aad

C. gieae sogaH
D. SEciaiod® GauHE
E. R&%5 &I 98

S feU 717 [aehedl & 9 G 304 &1 994 HitAg:
(A) A ¥R B Had
(B) C 3R D %ad
(€) A 3R C Fad
(D) A 3R D ®ad

Sl. No.88
QBID:12045363

Identify the mhibitory neurotransmitters from the following:

A. Glutamate
B. Aspartate
C. Cysteme
D. Glycine
E. GABA
Choose the correct answer from the options given below:
(a) A and B only
(8) C and D only
(c) A and C only

(p) D and E only

43 of 54



TEieET # 9§ deAe HIereHeT ® ggaE!

= few v faeedl # A g8 3A% &1 99 HifIg:
(A) A 3R B #ad
(B) C ¥R D Had
(C) A ¥R C Had
(D) D 3R E %ad

Sl. No.89
QBID:12045364

The function of a gene depends on expression of

A. DNA
B. RNA
C. Protem
D. Metabolite
E. Lipid
Choose the correct answer from the options given below:
(A) A and B only
(8) C and D only
(c) B and C only

(p) A and D only
W & & 31 fierfed Fofafea & s Ed g |

A. DNA
B. RNA
C. WeH

D. HeEiage
E. fofos

= T o7 Aoeat & & T8 3T F1 T99 I
(A) A 3R B Had
(B) C 3R D Haa
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(€) B 3R C Had
(D) A 3R D Fad

Sl. No.90
QBID:12045365

Identify the features of cancer cells

A. Rapid cell growth and division

B. Reduced cell growth and division

C. Loss of normal control of cell divison
D. Reduced angiogenesis

E. Utilize glucose at reduced rate

Choose the correct answer from the options given below:
(A) A and B only
(8) C and D only

(c) A and C only
(p) A and D only

F-T% SIS F T H Il

A. g siftre afg s faure=
B. 3994 SI@ gfg iR fumes
C. ®IE® GUTH & GHF Ha=0 &1 519

D. d{9=9T% TiiesnaT

E. W& &1 3O=a id 9 Sugn

=t few v faeeal # O Gl 3aX &1 999 hifAg:
(A) A ¥R B %ad
(B) C 3R D Fad
(C) A 3R C Had
(D) A ¥R D Haa

Sl. No.91
QBID:12045366
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Identify the methods to measure apoptosis in-vitro m mammalian cell culture

A. MTT assay
B.LC MS
C. NMR
D. Crystal violet assay
E. PAGE
Choose the correct answer from the options given below:
(A) A and B only
(8) C and D only
(c) A anc C only

(p) A and D only
WU FIE 9369 | g e #1 9e S R 7 21 g Fik

A. MTT 9i&m
B.LC MS

C. NMR

D. fhea acie giiem
E. PAGE

= few e faeedl # O Gl 3aY &1 99 hifAAg:
(A) A ¥R B %ad
(B) C ¥R D Had
(C) A ¥R C Had
(D) A 3R D Haa

Sl. No.92
QBID:12045367

Identify the tumor suppressor genes from the following

A. Ras
B. Raf
C. PTEN
D. Myec
E. p533

Choose the correct answer from the options given below:
(A) A and B only
(8) C and E only
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(c) A and D only
(p) A and E only

T8 & X TEE oA & U Sifeg

A. Ras
B. Raf
C. PTEN
D. Myc
E. p33

A fdw arv fapedl & A 8 3A3 &1 99 HifIT:
(A) A ¥R B %ad
(B) C ¥R E %ad
(C) A 3R D Haa
(D) A 3R E Faa

Sl. No.93
QBID:12045368

Which of the following organizations are involved in Covaxin production in
India.

A.DBT
B. CSIR-CDRI
C. ICMR-NIV
D. Bharat Biotech
E. Bharat serum
Choose the correct answer from the options given below:
(A) A and B only
(8) B and D only
(c) A and C only

(p) C and D only
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S | S SR YRA A Sloe0E & Sded | mmaa O |

A.DBT

B. CSIR-CDRI
C. ICMR-NIV
D. YRd ST

E. yea e

A fgw v faeedl A O O 3T o 999 it
(A) A 3R B &ad
(B) B 3R D Haa
(€) A 3R C &g
(D) C 3R D %ad

Sl. No.94
QBID:12045369

Given blow are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: Bateson & Punett showed that the linked genes do not obey
Mendel's law of independent assortment.

Reaszon R: The Dihybrid test cross ratio for closely linked genes produced 50%
parental and 50% recombinant types of progeny

In the light of the above statements. choose the correct answer from the options
orven below:

(A) Both A and R are true and R is the correct explanation of A

(8) Both A and R are true but R is NOT the correct explanation of A

(c) A is true but R 1s false

(D) A is false but R is true

J 2F Fua Tw 9w §: v wffeua (Asseﬂianﬁ)%@ﬁﬁﬁ?ﬁ%?ﬁm
39 FNROT (ReasonR) & FT #:

HiFFUT A dTaa 3R gre & T & ded VA Aesd & AATAT
atfeRoT T Orele AT A B |

FROT R : I, ATl A0HA & v Besfgs oleior sy seqard 50% d9a% 31
50% T ¥ TR &1 Tdfd H 3cdGel Hl § |

SIHIFT FUA & Helld #, A &0 710 [ddeal § § T 30 &l 93« HhiiaAT |
(A) AR REE oo § AR R A TE corar &
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(B) AR R oo & ofeha R A S T8 e 797 &
(C) ATcT ¢ aifdhed RITT &
(D) AT ¢ afda RacTw ¢

Sl. No.95
QBID:12045370

Given blow are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Agssertion A: Oligosaccharides with unique structures are components of a variety
of glycoprotemns and glycolipids on the outer surface of plasma membranes.
Reason R: The mfluenza virus infects animal cells by binding to the cell surface
lycoprotems as first step of infection.

In the light of the above statements. choose the correct answer from the options
erven below:

(a) Both A and R are true and R is the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(c) A is true but R 15 false
(D) A is false but R is true

A 27 Fud fTw o i Wmﬂﬂ(ﬁsseniﬂnﬁ)ﬁmﬁmﬁ%ﬁm
3T FRUT (Reason R) & T #:

YT A fEdaRrss fAftce §3=er & @19 gia § &7 coreaAr & & agdr
Tas W oug rasameT iR osafiiis & gea § |

FROT R : SeFe[UT U] Sed IR &I HhiAd Hdl & | 56 HHAU & Jod
TOT FH FINH Fag W Fod 7@GHWET & I5 au Fal ¢ |

IHIed U & Hdld A, A 67 710 fddedl § 3 el 30 &l 9ad $hitaAT |
(A) AR REET c7 § 3R R AH T o= §

(B) A 3R R oo §. ofther R A ST T8 carEar 787 &

(C) AT i @ifthet R 3T §

(D) AT § ofdhd REH &

Sl. No.96
QBID:12045371



Given blow are two statements: one 1s labelled as Assertion A and the other 15
labelled as Reason R.

Assertion A: Each Dideoxynucleotide used i Sanger's method of DNA
sequencing can be linked to a fluorescent molecule that gives all the fragments
termunating at that nucleotide of particular colour.

Reason R: The DNA sequence is read by determining the sequence of colour
the peak as they pass through the detector.

In the light of the above statements. choose the correct answer from the options
grven below:

(a) Both A and R are true and R is the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(c) A is true but R is false

(D) A is false but R ig true

Al 27 Fua Tw v § T fEeus (Asseﬂianﬂ)%@ﬁmﬁgﬁw
3Heh &N (ReasonR) & &9 #H:

JfAFAT A IdS S dfdoalerss DNA Hedehd & WX fafer & sugmer grar
¢ | FARRIeT AV & Heldol g dohal ¢ | off 9T 31 & 39 ~Feigss & aeh

HIT T THAGT T £ |

FROT R:DNA 37fd o 3 {1 &7 30 & carn feiRor faear arar § =19 @
TES A o 9w ¢

IWIFd FUS & Al &, =31 Br v fGeedl § T IO & 93 HIfav |
(A) AR REE Ocg § 3R R AS T8 amET §

(8) A3 R T §, ofohe R AH WeT s 7t §

(C) ATH § afthed R 30T ¢

(D) AT § ofhed RET &

Sl. No.97
QBID:12045372

Given blow are two statements: one is labelled as Assertion A and the other 15
labelled as Reason R.

Assertion A: Polyploid species of common bread wheat have evolved by
hybridization followed by chromosome doubling in interspecific hybrids by
treatment with colchine.

Reason R: Colchicine induces gigantism m allopolyploid species of bread wheat.
In the light of the above statements, choose the correct answer from the options
given below:
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(A) Both A and R are true and R 1s the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(c) A is true but R 15 false

(D) A is false but R 1s true

A 27 Fud fTw v § e afEeys (Asseﬂiﬂnﬁ)ﬁmﬁmﬁ%?—ﬁm
38k RO (ReasonR) & &9 #:

HfoRaa A AR g SEI0T TS BT & C@RT FIAESS & AR
AT 3R faflse Hhe A PR FI A Fa A faHfad gam g |

HRUT R - HIEhIEISA g T Sagalivd s # Sifdsiar 3ciea el & |

IRIFd FU & HATelld #A, dlg G0 717 [ddhedl § & T6L 30 & 98« HiaAT |
(A) AR REET a7 § 3R R AS Tgr oo §

(8) AR REET IcT §. ofchar R AFT Far & 7l o

(C) ATcT & vifee R3O &

(D) ANTT ¢§ afFa RTT &

Sl. No.98
QBID:12045373

Given blow are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: The lacZ gene is present of pUC cloning vectors as the selectable
marker by which recombinants may be selected through mnsertional inactivation
of lacZ gene.

Reason R: IPTG acts as gratuitous mducer of lacZ genes due to which
recombinants produced in pUC vectors may be selected by Blue-white
screening.

In the light of the above statements. choose the correct answer from the options
erven below:

(a) Both A and R are true and R is the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(c) A is true but R 15 false
(D) A is false but R is true
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Al 27 Fua BT v Wmiﬁsseniﬂnﬁ)ﬁmﬁmﬁ%ﬁw
3% FRUT (ReasonR) & T #:

3faeeeT A - LacZ Sfier pUC age OX IaeTehil AT &7 oig 39ieud gar & |
o earr geraferst, LacZ Sited @ feiders |feaor & Aregw & =afeid 81 dehan

B

FROT R: IPTG ITcad W & aXg &4 &l ¢ o LacZ e & 3096 § |
godferst PUC amger # St 76 =o] sgrse SRt & canr =9afad giar & |

IRIFd FUA & HAelld A, alg 60 710 [ddedl § & Hol 30 & 9de hliaAT |
(A) AR REET @07 § 3R R AS T8 = §

(8) AR R aca & afhe R A ST Ty carear 78T £

(C) ATcT & aifdhel R 36T &

(D) A3 § ofhed REcH 8

Sl. No.99
QBID:12045374

Match List I with List 1T

List-I (Group of Organisms/Plants) List-IT (Grouped as)
A. Bacteria and Blue-Green Algae I. Tracheophyta

B. Bryophytes and Pteridophytes II. Spermatophyta
C. Pteridophytes and Gymnosperms II1. Monera

D. Angiosperms and Gymnosperms IV. Embryophyta

Choose the correct answer from the options given below:
(A) A-IV, B-I, C-II, D-III
(8) A-IL, B-III. C-IV. D-II
() A-II, B-III, C-IV, D-I
(p) A-III, B-IV, C-I. D-II



Tl 1 & |y =i 11 &1 f3eE sifeu

TH1-1 (©iat R i &1 99E) -1 EHgiEa)
A ST SR &1 FF Sara 1. TifFamIgel
B. STdHIsed R efeermised I1. TyHaEEea
C. eRSIBTEEY SR sHgadTal TIL. ®ERT

D. Hgastel 3 sAgastet IV. TfEmmege

A fou e fomeal # 9 981 3R &1 99 Hifon:
(A) A-IV. B-1, C-IL D-III
(8) A-L B-III. C-IV, D-II
(c) A-IlL B-III, C-IV, D-I
(o) A-III. B-IV, C-I, D-II

Sl. No.100
QBID:12045375

Match List I with List 1T

List-I (Plants) List-II (Economic Importance)
A. Rauwolfia serpentina I. Insect repellents

B. Vinca rosea I1. Tooth paste

C. Schizyzium aromaticum I11. Blood Pressure

D. Azadirachta indica I'V. Cancer

Choose the correct answer from the options given below:
(A) A-IV, B-1. C-II, D-III
(B) A-III, B-IV, C-II, D-I
() A-II, B-III, C-IV, D-I
(o) A-I, B-IV, C-II, D-III
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o & wr g e mream fifee

-1 (@ -1 (enfife mea)
A. FaiicEar gi<=7 1. Fic ufasfy

B. it I 0 &

C. fomsiogs TRiHTcHH I11. ¥ <19

D. SOTaveET sTa®T IV. $2

< few 7T [Oeheul § G HE Iadehl 999 SHhifAu:
(A) A-IV. B-1. C-II. D-III
(8) A-IIIL B-IV, C-II. D-I
(o) A-IL. B-III. C-IV, D-I
(o) A-L. B-IV, C-II. D-III
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1204537 C 12045345 A
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12045319 D 12045357 A
12045320 B 12045358 C
12045321 B 12045359 C
12045322 D 12045360 A
12045323 B 12045361 A
12045324 A 12045362 A
12045325 C 12045363 D
12045326 C 12045364 C
12045327 C 12045365 C
12045328 C 12045366 C
12045329 C 12045367 B
12045330 A 12045368 D
12045331 D 12045369 C
12045332 D 12045370 A
12045333 D 12045371 A
12045334 A 12045372 C
12045335 B 12045373 A
12045336 C 12045374 D
12045337 D 12045375 B
12045338 C

Note :- Correct Option 'DROP' means the question is Dropped, Marks awarded to all candidates Page 17
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